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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

10.

Answers are to be bubbled only on the separate OMR answer sheet provided to
you. After examination detach the carbonless copy from original OMR & keep
carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one

block) on question paper. Before writing your seat no. ascertain it with Hall ticket.
Please see that no block is left blank or unfilled.

Example :

CENTRE CODE 1 l 0 2

SEAT NO. M|3 |39 2|1 1f(1|0]2|1]2]|3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after the other till last question.

If you do not know the answer to any question, do not spend much time on it
and pass on to the next one. Time permitting you can come back to the questions
which you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere
in this booklet.
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1. A revolving electric fan continues to revolve even after it is switched off, is an
example of
(1) Inertia of rest
(2) Inertia of motion
(3) Inertia of direction
(4) Pressure
2. What will be the total potential difference of the battery in the following case, if
each cell has potential difference of 1.25 V7
A=
(1) 6.00V (2) 575V (3) 625V (4) 2.65V
3. Cyanocobalamin is nothing but _____ |
(1) Vitamin B-12 o (2) Vitamin B-6
(3) Vitamin B-3 (4) Vitamin B-2
4. Which of the following options of statements related to linear expansion are true?
(a) Increase in length of a wire or a rod due to .increase in temperature.
() L=h(+AAT)
(c) Lambda is called the coefficient of linear expansion of the solid substance.
(d) Lambda is the cénstant of proportionality.
(1) ab&ec ' - (2) ac&d
(3) bc&d - @) abc&d

Space for Rough Work
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S. 1004 Hz frequency means
(1) 1004 cycles / second
(2) 1004 compressions / second
(3) 1004 rarefactions / second
(4) 1004 wavelength (A)

6. Which of the following statements about irregular reflection of light, is incorrect?
(1) It takes place on rough surface.
(2) The angles of incidence for parallel rays are not equal.
(3) The reflected rays spread over a large surface.

(4) The laws of reflection are not followed.

7. Pieces of discarded glass are added in the production of glass soasto_____
(1) make it to be malleable
(2) make it transparent
(3) form the mixtﬁre crystalline

(4) melt the mixture at low temperature

8. The construction of ships and submarines is basedon _____
(1) Pascal’s law
2) Newton’s law
(3) Archimedes’s principle

(4) Gravitation’s principle

Space for Rough Work
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9. Choose the correct alternative from the figure given below.

A

8

e

b
(1) (A) Larynx (B) Esophagus | (C) Vocal cords (D) Trachea
(2) (A) Epiglottis  (B) Vocal cords (C) Trachea (D) Esophagus
(3) (A) Epiglottis (B) Larynx (C) Esophagus (D) Vocalcords
(4) (A) Larynx (B) Trachea (C) Vocal cords (D) Esophagus

10. In the scattering of sunlight coloured rays are mostly scattered.

(1) Red (2) Blue
(3) Green ' (4) Yellow

Space for Rough Work
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11,

12.

13.

14,

15.

While standing on the ground, the point on the celestial sphere exactly above our
head is called

(1) Zenith (2) Nadir
(3) Ecliptic (4) Celestial equator
The valency of atom is related to

(1) Number of protons (2)° Number of electrons

(3) Number of neutrons (4) Mass of the atom
Which of the following is incorrect statement regarding the noble metals?
(1) They are in elemental form.

(2) They are easily affected by air, water and heat.

(3) They are not corrosive at r‘oom temperature.

(4) They are not oxidised at room temperature.

Name the isotope of hydrogen used in formation of heavy water.
(1) Hydrogen (2) Tritium

(3) Deuterium (4) None ;of thésé
Which metal is kept under kerosene?

(1) Potassium (2) Calcium

(3) Sodium (4) Magnesium

Space for Rough Work
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16.

17.

18.

19.

20.

21.

Which among the following reactions is not a chemical change?
(1) Respiration (2) Photosynthesis
(3) Burning of fuel (4) Stretching a spring

Which of the following is a chemical formula of baking soda?

(1) Na,CO, (2) NaSO,

(3) NaHCO, (4) NaOH
Choose the different word among the following :

(1) Sodium | (2) Magnesium
(3) Aluminium (4) Oxygen |

The proportion of constituent elements of oxygen and hydrogen by weight in water
is : ' : :

(1) 8:1 f (2). 1:8

(3) 8:8 e 4 1:1

Find the odd one from the following :

(1) Helium - ' (2) . Hydrogen

(3) Argon (4) Neon

Name the method which is used to separate the substances which are not miscible
in each other.

(1) Centrifugation . (2) Separation

(3) Distillation : (4) Chromatography

Space for Rough Work
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22.

23.

24.

Name the method which is not applicable for the corrosion of metals.
(1) Galvanisation (2) Metal coating

(3) Powder coating (4) Dip in water

Identify the incorrect pair from the following.

(I) Human — Influenza virus

(2) Bacteria — Bacteriophage

(3) Plants — Tomato-Wilt Bacterium
(4) Cattle — Picorna virus

What is the scientific name of China rose?

(1) Hibiscus rosa-sinesis

(2) Cannis famalaris

(3) Bos toirus

(4) Sorghum vulgare .
Which of the following statements is false? | J'l

, . , l
(1) To cure the disease Tuberculosis the treatment DOT is given completely and

regularly. /
/
(2) To treat Dysentery, Oral Rehydration solution should be consumed.
(3) To prevent Cholera, vaccination against cholera should be done. )

(4) To prevent Typhoid, BCG vaccination should be injected.

Space for Rough Work
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26.  Which of the following, is not a symptom of Heart discase?
(1) Obesity
(2) Severe chest pains
(3) Sweating
(4) Unecasiness, tremors
27.  What is the process in the given example below ?

‘If fruit pieces are kept in thick saturated sugar solution, the water from fruit picces

enter the sugar solution. So the fruit pieces shrink after a while’.
(1) Diffusion

(2) Osmosis in isotonic solution

(3) Osmosis in hypotonic solution

(4) Osmosis in hypertonic solution

28. For which of the following studies, Camilio Golgi alongwith Santiago Cajal won
the Nobel Prize in 19067

(1) Discovery of Blood Group
(2) Pasteurization
(3) Cell

(4) Structure of Nervous system

Space for Rough Work
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29.

30.

31.

32.

Which of the following is incorrect function of blood?

(1) Albumin - Distributes the water all over the body

(2) Fibrinogen and Prothrombin - Help in b].cmd clott'ing process
(3) Globulins - Keep the balance of salts

(4) Inorganic ions - Control the function of muscles and nerves
_____is measured with the help of sphygmomanometer.

(1) pH of blood (2) Blood pressure

(3) Heartbeat’ (4) Gaseous pressure

In which state Kaziranga National Park is situated?

(1) Gujarat (2) Assam
(3) Rajasthan (4) Mabharashtra
The layer of gas protects living beings from ultraviolet (UV-B) radiations

emitted from sun.

(1) Ozone ~ (2) Carbon di-oxide

(3)  Oxygen (4) Methane

Space for Rough Work
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34.

35.

36.

Which of the following group of gases causes Green House Effect?
(1) CO,, CFC, SO,, nitrous oxide

(2) CO,, CH,, CFC, nitrous oxide

(3) Co,, CFC, SO,, NO,

(4) CO, CH,, SO,, NO,

Which of the following is an incorrect statement?

(1) Class A fire is put out with water

(2) Class B fire is extinguished using fire extinguishers
(3) Class D fire is extinguished by pouring water

(4) ClassE fire is extinguished using non-conductive fire extinguishers like carbon

di-oxide
Due to deficiency of = * nutrient there is late flowering in plants.
(1) potassium " (2) phosphorus
(3) iron 2 +..(4) zinc

According to resolution passed in Indian National Congress session held in 1920,

a programme was framed to boycott following; find wrong option.
(1) Government offices = (2) Court

(3) Indian goods ~ ' . (4) Government school and college

Space for Rough Work
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37.

38.

40.

41.

Who played active role in the International Communist Movement?
(1) Bhikaji Kama (2) Manabendra Nath Roy
(3) Rasbihari Bose (4) P. Shyamjikrishna Varma

vy ~ . ™ W .
Which party was founded to liberate Portuguese colonies of Dadra and
Nagar Haveli?

(1) Operation Polo (2) Azad Hind Sangh
(3) Azad Gomantak Dal (4) Tufan Sena

Which one of the following is not related to Civil Disobedience Movement?

(1) Kamaladevi Chattopadhyay (2) Avantikab.ai Gokhale
(3) Hansaben Mehta (4) Aruna Aasaf Ali

In 1927 Dr. Babasaheb Ambedkar started ____ newspaper.

(1) Muknayak (2) Bahishkrut Bharat
(3) Janata (4) Prabuddha Bharat

Who was last Governor General and First Viceroy of India?
(1) Lord Ripon | (2) Lord Dalhousie

(3) Lord Canning - (4) Lord Bentinck

Space for Rough Work

NMMS-SAT-20 VI |S 23 of 48




PR T————
WIS S T A W) ... Y v ol w7
(1) W swgg
(2)  wewe )
(3) vdfsadgw
(4) WRR Feavsg wew

43, amwmm&wﬁammﬁmawﬁlwﬂwﬁﬁm s \ i . (
31 TER yrsfas ? : '

(1) 7=TE et (2) Tt g

(3) S gER : - (4) famrS T
44, e HEAHT AT SHEgmn seren T foren. I

. R udufey g

II. fee gefi=l wer g&

1. 2 St T

V. fﬁﬂmﬁ?ﬁm

() mLLILIV @) ILILLIV
(3) 1V, L 1L 1I | 4) 1L 1, IIL IV
HeeA] HTATETS] Terd

[NMMS-SAT-20 [VII1 | S : 24 of 48




L

—

41.

43,

44,

Who said following statement “Iiveryone of you should from this moment onwards,

consider yourself a free man or woman and behave like a citizen of free India

(1) Maulana Azad

(2)  Mahatma Gandhi

(3) Pandit Nehru

(4) Sardar Vallabhbhai Patel

Under _ 's leadership Bajirao sent his knights to strengthen their posts at Malwa

in today's Madhya Pradesh.

(1) Malhar Rao Holkar (2) Ranoji Shinde

(3) Udaji Pawar (4) Chimaji Appa

Select the option which shows correct ;:hronological order of the following :
(I) Represented Parliament of Religions at Chicago.

(I1) First school of girls started.

(I11) Arya Samaj was founded.

(IV) Hindu Mahasabha was established.

() I L 11, 1V (2) I 1L, I, IV

3) 1v, I, I, 1 @ 1L L, 100, 1V

Space for Rough Work
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45, Person in given picture is related to which Satvagraha?
(1) Mulsht Satvagraha
(2} Peshawar Satvagraha

(3) Kheda Satvagmha

() Solapur Satygagraha
46.  Who said the following sentence “Maharaj did not belong to Maharashtra alone,

he belonged to the whole Indian nation "

(1) Pandit Jawaharlal Nehru (2) Mahatma Phule

(3) Dr. Babasaheb Ambedkar (4) Lokmanya Tilak

47. Which organisation was established by Indians living in America and Canada?
(1) Hindustan Socialist Republican Association
(2) Gadar
(3) Abhinav Bharat
(4) Anushilan Samiti
48. As per Nagpur Pact, amendment of constitution, Article 371(2) in 1956, which of
the following is incorrect?
(1) Extra financial provision for development work
(2) Ample finance for technical and vocational education

(3) Provision of state government services in particular regions in accordance with
population

(4) Annual Assembly session of Maharashtra should be held in Nagpur

Space for Rough Work

| [NMMS-SAT-20 [VIIT [S | _270f48




49.  witEmiTen Hriw HEwm e wfafii e gaaoara sifsr Fae Tie s
ST AT VR MTE?

(1) 3w g (2) were il
3) fars-sa-wmm (4) gy
S0, wRaie wewi  3e1 W A v v e i e e dea Bl e
() &wit qarR weead (2) e gt eHE
(3) @ fydwrg (4) Arefem e

Sl el S 1 wals maream @
(1) ¥ F i qiemdie a2 Gregn
(2) =mEfuwi=t Yo wo
(3) SIRET=N TEAYE anm 1w w1
(4) TETAHT Heen faamears 0
52. WS TR SOCH U SRS el A SO S O -

(1) wHR™ . (2) wady
(3) rafeadt (4) iR g=a1
53. Ul werel faSvE deaun SR T -~ a4 i arEe i,
(1) 18 (2) 25
(3) 30 (4) 35
FreA] FTATHIS! Fad

[NMMS-SAT-20 [VIII | S 28 of 48




49.

50.

51.

52.

53.

—— Insisted that only the Muslim League should have the right to suggest the
name of Muslim representatives to the Viceroy’s Executive Council.

(1) Muzaffar Hussain (2) Mahatma Gandhi

(3) Siraj-Ul-Hasan (4) Barrister Jinnah

Who gave following message to the Indian youth _____ “Arise, Awake and stop
not till the goal is achieved.”

(1) Swami Dayanand Saraswati (2) Gopal Hari Deshmukh

(3) Swami Vivekanand (4) Veeresalingam Pantulu

Which function among the following does not come under the functions of Supreme
Court?

(1) To settle the disputes between the centre and the state
(2) To appoint the judges
(3) To protect the fundamental rights of citizen

(4) To provide necessary advice if it is asked by president

To prevent a subordinate court from exceeding its jurisdiction 1s known as
(1) Mandamus (2) Prohibition
(3) Habeas Corpus (4) Quo Warranto

The person contesting the presidential elections should have the age of at least

years.
(1) 18 (2) 25
(3) 30 (4) 35

Space for Rough Work
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54,  TERrg faum et g g fwd) ama?
(1) 288 (2) 250
(3) 78 (4) 29
55.  weiter e favm s
(1) wEvess et fiftfd s,
(2) FHFR ez T YO SHeEE) w9,
(3) e = vE v w5,
(@) FRHEs, FHER Hew, AEHes 9 94 B TN TER gd tifinises s,

56.  TES WA ------ 1 TR S I

(1) fafem 7 qFofasm (2) frre = o

(3) fafeam 9 siegfufrem (4) fafes 3 frra
57. TEMEIR W= A6y HH el

(A) JEsHd (B) W Hem

(C) v i (D) @< AR

() A,B,C,D

2 A,CB,D
(3) A,B,D,C
(4) A,D,B,C

) 30 of 48
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54.

56.

5.

Choose the corre . . .
correct number which comprises members of the first house legislature
of Maharashtra,

(1) 288 (2) 250
(3) 78 (4) 29
Identity the incorrect option / statement.

(1) The function of the legislature is to make laws
(2) The executive implements the law.

(3) The judiciary provides justice.

(4) The Legislature, The Executive and The Judiciary’s interrelationship that is
decided by the government. -

The continents are mainly composed of and
(1) Silica and Magnesium (2) Nickel and Iron
(3) Silica and Alﬁminium (4) Silica and Nickel

Choose the correct order of ocean relief.

(A) Continental shelf (B) Abyssal plains
(C) Marine trenches (D) Continental slope
() A,B,C, D

2) A, C B, D

3) A, B, DC

(4) A, D, B, C

Space for Rough Work
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58, @rElEta SR WA IO WA e ?

(1) wgher warg (2) sfvnfern ware
(3) T wam (4) @Ame
59.  wrelterdia wmoR g wredaf Ja e i aa?
(1) v, o (2) TTOE
(3) v T @)
60. e sy yeton S wkd e o, w1 ferg - - feerefl TEor.
(1) guem (2) amy
(3) wpimEw 4) w9y
61. - Ay S e
31, T YHN =, T R I
. fam a. fowm =t S o1y v
2. TTeREeq b. 2000 Yen st Hex
3. frmiegen c. 7000 ¥ 14000 Tex

4, T d. 2000 @ 7000 ez
(1) I-¢,2-d, 3-b, 4-a
(2) 1-d,2-b, 3-a, 4-c
(3) 1-c,2d,3-a, 4-b
(4) 1-b, 2-c, 3-d, 4-a

el FHHEE] T
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N, Which one ot the o . i
] ¢ otthe tollowing is not warm ocean current?
) Brazil ogy
\ Feureent (2) Opyashio current
a \ -
() Gullcurrent () Somali
0, Whie h N . g .
) chone of the tollowing does not come under public utility arca?

(1) Building, houses (2) Hospital
(3} Post Ofice (4) School

a0. When moon is closest to the earth it is said 10 De N o

(D Lunar Eclipse

(3) Solar Eclipse

6l. Choose the correct option of pairs:

(A) Typesof Clouds (B) General Altitudes of clouds
l. Cirrus ‘ a. The extent could be variable
2. Alto-stratus : b. Less than 2000 meters

3.  Nimbo stratus c. 7000 to 14000 meters

4.  Cumulus d. 2000 to 7000 meters

Options :

(1) 1-¢,2-d,3-b,4-a
(2) 1-d,2-b,3-a,4-c¢
3) 1-¢,2-d,3-a,4-b
(4) 1-b, 2-¢,3-d,4-a

Space for Rough Work
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62.

63.

64,

65.

66.

WO TS S WAy WRiE e wa

(1) 143 60w (2) 1500w
(3) 0 147 @) 15759 =
STl HTIETS Ry W AT wond) e e 9 ?

(1) s (2) o e
(3) wfRd (4) ¥R

R T et ol e gatade s ?

(1) 15 wE= (2) 30 W@mEw
(3) 40 wwEw (4) 50 TEmw
2010 =1 SFVATER WRATS WIS TH9] —————- T4 I,
(1) 72.1% (2) 96.4% (3) 61.5%

(1) T Teaferer e o 2R,
(2) <= A gEnE ST 3T,
(3) VeI T S HHT ST,
(4) TEAER AT QA S T

(4) 92.6%

Fe] HHTEGET e
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62.

63.

64.

65.

66.

People of .
p — _age group are included in the productive population.

(1) 14 t0 60 years (2) 15 to 60 years
(3) 0to 14 years (4) 15to 59 years
Which soil is known as ‘black soil’?

(1) Laterite (2) Coarse

(3) Brown (4) Regur

In two hours how many longitudes will face the sun?

(1) 15 longitudes (2) 30 longitudes

(3) 40 longitudes (4) 50 longitudes

f‘-'ts per the statistics 2010 literacy rate 6f India is

(1) 72.1% 2) 96.4%

(3) 61.5% (4) 92.6%

From the below opﬁoﬁs which one is not a characteristic of the mountain breeze?
(1) Mountains cool down quickly at night

(2) The valley zone is comparétively warmer

(3) Air pressure is low on the mountain

(4) Air pressure is greater on the mountain

Space for Rough Work
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67.  geeftem T A STl SN AAHAS AT - - YeTg TR B

(1) i (2) feafersreet
(3) faeua (4) weEgE

68. mmﬁmwwam@mmﬁmmamwﬁ%a%m
Shne R pie e

(1) A | | "~ (2) B
3) D 4) C
69.  HOER SANHL HIVR Weld ¥ e et ?

(1) =i smmEs
(2) =it =S
(3) SHRHRRITI AIETH T
(4) fowmamefa &=

FeeA] HIAHE] Tk
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67.  The difference between the temperatures of the outer and inner core gives rise to
currents,
(1) Downward (2) Horizontal
(3) Eleetric (4) Vertical
68.  Observe the diagram given below and identify the correct option which indicates

Extensive Fishing grounds.

() A (2) B
3) D @ cC
69.  Which one of the following is not included in the details of 7/12 extract?
(1) Yearly budget
(2) Status of debts and loans
3) Owhership rights of the family

(4) Area under different crops

Space for Rough Work
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70,  TRRIE TS T TTHR ——mm e WWWWWWWW
| (1) 16 == 1992 (2) 10 wmaERt 1992
(3) 1 M= 1962 ' (4) 11 M 1962
71 < oftft 48 S, ST a0 S i wE R ?
(1) 245 (2) 123
(3) 1042 it 4) 1223
72.  (3a+4b-5¢)° = fro
(1) 9a2+16b2+25c2+12ab-20bc_—15ac
(2) 9a’+16b%+ 25¢2 + 24ab — 40bc — 30ac
(3} 9a’+ 16b* + 25¢2 + 48ab — 20bc — 30ac
(4) 9a’+ 16b? + 25¢2 + 24ab + 40bc + 30ac

73, mmmmwm@w%wwmwmmm
ATARI THET STHAT T o A FhI oren FEETan R ey ST ?

(1) - - (2) WM-a1-a
@) F-=w-@ - (4) s
F=A| FHTAES! Fog
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} i ] *
70, On M Maharashira, the state government established the ‘Maharashtra

l“"h"‘”i“l Development Corporation,
(1) 16 November 1992 (2) 10 January 1992
(M) T August 1962 (4) 11 August 1962
71 Perimeter of square is 48 e, So length of its diagonal will be = ?
(1 24 em (2) 12cm
(3) 10v2 em (4) 1242 cm
T2 (3at+4b-5¢c)Y =9
(1) 92* + 16b* + 25¢2 + 12 ab - 20be — 15 ac
(2) 9a® + 16b* + 25¢ + 24 ab — 40be — 30 ac
(3) 9a%+ 16b* + 25¢% + 48 ab — 20be — 30 ac
(4) 9a’+ 16b* + 25¢2 + 24 ab + 40bc + 30 ac

73.  When hypotenuse and a side of the right angle triangle is congruent to hypotenuse
and corresponding side of the other triangle (right angle) then both triangles are
congruent by which of the following congruency test?

(1) S-A-S . (@) S-S-S

(3) A-S-A (4) hypotenuse-side

Space for Rough Work
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74, J6859 = fai?

(1) 13 (2) 19
(3) 23 4) 29
l 3
75. (23) +(|57)0 _ feiy
(32)° _
(1) 4 (2) 3
(3) 2 T4 1
76. ﬁﬂam#ﬁqms&ﬂﬁamqﬁmli;?aﬁml.sﬁaﬂﬁﬂmﬁ@?ﬂmﬁm
wd fordt @A ? '
(1) 9757m (2) 575%H
(3) 5257 | (4) 8757

77.  TFEHzem O A U e Yold G hdt e ween ¥ fadt eme. 21, 17, x, 100,
57, 48,47, 20, 35, 04, 02. 5 ¥d graial Heg 40 379 9 x =1 f0d fahal?

(1) 79 (2) 80
(3) 89 (4) 78
HeAl FIHTATS! Ferd
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74.  Y6859=9

(1) 13 (2) 19
(3) 23 (4) 29
1\3
75. (23) . (151)(:' =1
(32)°
(1) 4 (2) 3
ik 2 4y 1
76. Alloy of brass cﬁntains copper and zinc in the ratio 13:7. In 1.5 kg of brass vessel
the weight of zinc will be = ?
(1) 975¢. | (2) 575¢.
(3) 525g. . (4) 875g.

77. Runs scored by members of a cricket team are 21, 17, x, 100, 57, 48, 47, 20, 35,
04, 02 and the mean score is 40. Hence value of x =7

(1) 79 (2) 80

(3) 89 (4) 78

Space for Rough Work
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78.

79..

80.

81.

e R e e———————VITL L L SR
(1) 159 () 163
(3) 173 | 4) 18 %
o ST st st 6 s R w8 ST A S fht 591 STt

(1y 10 (2) 8

(3) 14 | 4) 12

(2m3+6m2+12m+8)ma§qﬁw(m+1)m1ﬁqﬁﬁmémmm€réa?
(1) 2m?+ 12m +4 (2) 2(m?+2m+4)
(3) 4(m+2m+4) (4) 3mi+4m+8

ST 350000 T AT SES SeeHGd foed e, 91 SEeRE Sarel 9. 3 3
I TR gareren fahd! geme fgedl? '

(1) 10500 =. (2) 6500%.
(3) 11500 (4) 8750 %.
Th=edl HIHTEIST e
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S0.

Diameterof a2 . p .
of a2 base of cyvlinder is 14 em and its volume is 2618 cm’. Hence height
of the cylinder is = f_*

(1) ISem (2) 16cm

3) 17em (4) 18cm

A cube has 6 surfaces and § vertices then how many sides it will have?
(1) 10 2 8

(3) 14 @ 12

("‘_I:: - 6m- = I2m = S) 1s divided b}- (m-’-l) then quotient is=7?

(1) 2 + 12m + 4 (2) 2(m*+2m +4)
(3) 4m=2m+4) (4) 3m*+4m+8

Shzmrzo purchased 2 land plot 21T 3,50,000 through a broker. If brokerage is fixed

21 3% then a2mount of brokerage =
(1) T10,500 (2 6,500

(3) T11,500 (4) T8,750 ®

Space for Rough Work
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. sroArErSt CEESIUG]
T TR TR A 24 fed /e SR Fel e T

82
' e ?
éﬂﬁﬂanﬁwﬁmfwnaa%ﬂamwmﬁﬁﬁmag
(1) 8 : (2) 6
(3) 4 . 4) 2 |
83. AABCtﬁAP%ﬁ‘nmaﬁ.‘G‘mr{wmﬁ-ApzISwmmAGﬁaﬁf‘
fomdt Al o @e?
(1) 2.5 2) 15
@ s (4) 10
84,  x° +;Ox+24 L2XH2 oo
x--16 x—4 :
M 3 @ x-4
(3) 1 | 4) (x+6)(x+4)
85. o TR LU U BfEea Se TGl BV SHaiehtr=al Wehl SIS rdiel shiAre 71g 2x°
3x° 3T T g1 AT T ORI ?
(1) 72° 108° (2) 144°,36°
(3) 108°, 62° ' L @) 1200, 60°
FecAl HIFTHR! Fad

i
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82. Average speed of a vehicle is 24 km / hr and it covers certain dis

tance in 12 hours.

If speed is increased three times then time required to cover same distance = ?

(1) 8 (2) 6
(3) 4 4) 2

3. AP is median of AABC. G is the point of concurrence of med
then AG = cm?

(1) 25 2) 15
@3) 3 4y 10
o, = +210x+24+2x+12 _ 9
x“-16 x—4
(1) E 2 4
> (2) x-
3) 1 (4) (x+6)(x+4)

jans. AP =15 cm

85.  Pair of interior angles formed when a pair of parallel lines are intersected by a

transversal are 2x° and 3x°. Then their measures are = ?
(1) 72°108° (2) 144° 36°

(3) 108°, 62° (4) 120°, 60°

Space for Rough Work
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56

86. ﬁmqﬁﬁﬂﬁ@%mmmﬁ?
(1) 1515 (2) 1315
(3) 1513 4) 1215
87. T WU SdEn <@ 6, § § @i, 2012 w @ wew amaen 120000 F R
2015 |l =0 weu dsgen fad g’
(1) 138915 (2) 139915
(3) 138951 ' (4) 139918 |
88.  odwdaray 12 i siquan s S @et 32 Y1 e W ager AW el
(1) 20 % (2) 40 &
(3) 423¥@ (4) 48 &
89. 18-2x _ 4 o < fmm e
x-4 3 N
(1) 8 @
(3) 7 4) 5
90. oI frRromean @ 13 W, 14 90, 15 Wit amtd ® o0 B S9wes Rt
(1) 82 <t () 74 <R
(3) 84 <R (4) 104 <=
HoAl HHHS! T

NMMS-SAT-20 |VIII (S

46 of 48 |




56

86, Decimal form of rational number = is = 7
(1) 1.515 (2) 1.315
(3) 1513 4y 1215
87.  Population ofa town increases at the rate of 5% per year. In the year 2012 population
ol the town was 1,20,000, So in the year 2015, population will be = ?
(1) 138915 (2) 1,39,915
(3) 1,38,951 (4) 1,39,918
88.  Achordoflength 32 cm is at distance of 12 cm from centre of a circle. Then diameter
of the circle = ?
(1) 20cm (2) 40cm
(3) 42cm (4) 48 cm
89, X dnen valleotu=?
x-4
15
2 —_
(1) 8 (2) 5
(3) 7 4) 5
90.  Sides of a triangle are 13 cm, 14 cm and 15 cm then area of the triangle is = ?
(1) 82cm? (2) 74 cm?
(3) 84 cm? (4) 104 cm?
Space [or Rough Work
l

NMMS-SAT20 VIl [S_]

47 of 48




